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Instructions for Candidates

1. Write your Roll No. on the top immediately on receipt of this question paper.

2. All questions within cach section are to be answered in a contiguous manner on

the answer sheet. Start each question on a new.page, and all subparts of a

question should follow one after the other.

3. All intermediate calculations should be rounded off to 3 decimal places. The
values provided in statistical tables should not be rounded off. All final calculations
should be rounded off to two decimal places.

4. The use of a simple non-progral_mmable calculator is allowed.
5. Statistical tables are attached for your reference.
6. In all calculations, figures should be rounded to two decimal places.

7.  Answers may be written either in English or Hindi; but the same medium should

be used throughout the paper.
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SECTION 1

Do any two questions.

1R 77 T Ier Dy

.. (a) Test scores out of 800 of 4 competitive exam of two group of 15 students

each are given below -

Groupl [ 107 10 ’ro 15 [35 [75 Js:o 95 100]175[420 490 [ 515 [ 515 [ 790

015 ’s l15 30 45’50150 50 [60 75 | 110

140 | 240 | 330

Group 1l

" . i .y . f
(i) Calculate the median, first quartile, third quartile for each group o
students.

_— ta?
(ii) Are there any extreme or mild outliers in both groups of data
(3+2)
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(b) Twenty cars of distinct colours park in the
of these cars are Indian-made, wh-ilc the other ten are foreign-made. The

actly twenty spaces all in a row. So, the cars park side by

parking lot has ex
side. However, the drivers have varying schedules so, the position any car

might take on a certain day is random.

(1) In how many different ways can the cars line up?

(i) What is the probability that on a given day, the cars will park in such
a way that they alternate (no two Indian-made cars are adjacent and

are adjacent)? Give an explanation for your

no two foreign-made cars
(1+4)

answecer.

(o) e 15 W B A e @ wR waer @ 600 ¥ ¥ 2w AT Ry M E

Groupl [10[10 [10 [15 ]35 ’75 90 [95 | 100 | 175|420 [ 490 | 515 515’790

,Gmupll 0[5 |5 |15 (30 45150 50 |50 [60 |75 | 110 140 240'330

(i)mﬁ%uﬂﬁﬂg%m'm,mﬂgﬁm,qﬁqmaﬁm
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PTO.

same parking lot every day. Ten -
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2 {l) Find 27% lrimmCd mean of 2, 4, 6’ 7’ ]I’ 21’ 8]' 90’ [05’ 121. What

would be the trimming percentage if one observation is removed from each

end of the dataset? (3+2)

(b) Tags arc attached to the left and right hind legs of a cow ip a4 pasture,
Let A, be the event that the left leg tag is lost and A, the event that the

right leg tag is lost. Suppose lheSF_-‘_ two events are independent and
. P(A) =P, =0.3.

(1) Find the probability that at Jeast one leg tag is lost.
(i)) Find the probability that exactly one tag is lost, given that at least one

tag is lost.

L

(F) 2,4,6,7,1, 21, 81, 90, 105, 121 =1 27% fewr T wrn smem w9 <5 o

m%mwﬁwmmﬁmmﬁﬁﬁnmmﬁm?

() s 3 g e e 03 2 g3 R 21 AR A e
g W S T R S A, e w2 W T 1w SR
fF A 2 wed T € 3K P(A,)=P(A)=03 |
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(i) Wi s i o @9 & @9 @ o1 o1 A 8 T 2

(i) 58 a1 =) v s <oy o e ¥ v &0 @ T 2, 7 I T
= R v 2@ T 2
3. (a) Ganesh asks his neighbour to water a flowering plant while he is on vacation.

Without water it will die with probability 0.8; with water it will dle Wlth

probability 0.15. He is 90 percent certain that his neighbour will remember
to water the plant.

(1) What is the probability that the plant will be alive when Ganesh returns?

(i) If it is dead, what is the probability that his neighbour forgot to water

it? (3+2)

(b) A sample of automoblles was selected, and each was subjected to a-5-mph
crash test. Denotmg a car with no visible damage by S (for success) and a

car with such damage by F, results were as follows :

"SSFSSSFFSS

What is the value of the sample proportioﬁ of successes? Suppose it is
decided to include 1.5 more cars in the experiment. How many of these

would have to be successes so that sample proportion of successes is 0.80

for the entire sample of 25 cars? (2+3)

() o T T AR F R o TR A T ¥ w3 R g e
21 58 9 F R 08 F 6 I6 T F B W S, wh F RN

P.T.0.
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SECTION II
Do any two questions. |

ﬁﬁ‘fﬁnﬁ'waﬁ?a‘iﬂﬁ:

4. (a) Airlines sometimes overbook flights. Suppose that for a plane with 50 seats,

55 passengers have tickets. Define the random variable Y as the number of

ticketed passengers who actually show up for the flight. The probability

mass function of Y appears in the following table.
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Y 45 46 47

P(Y) | 0.05 01 o2

7
48 49 50 |51 |52 |53 [54 |55
0.14 025 |0.17 [0.06 |0.05 [0.03 |0.02 [ 0.01

(1) What

passengers who show up?

is the probability that the flight will accommodate all ticketed

(i) What is the probability that not all ticketed passengers who show up
, !

can be accommodated?

(i) If you are the first ﬁcrson on the standby list (which means you will

be the first one to get on the plane if there are any seats available after

all ticketed passengers have been accommodated), what is the

probability that you will be abje to take the flight? What is this probability

if you are the third person on the standby list?

(b) Let X have the PMF as below :

’L;(x) 0.4 [03 |01

(1+2+3)

In a win-win game, the player will win a monetary prize, but has to

decide between the fixed price of Rs. 1000/E(X) and the random price of

Rs. 1000/X, where the random variable X has the PMF given above. Which

choice would you recommend the player to make?

PT.O. .




| 3
3063 | o
(ﬁ)mm‘—ﬁ—mﬁa@ﬁaﬁmm%mmﬁmmm

o

Wssmﬁﬁf%mﬁw%m@mm&’ﬁﬁﬂaﬁmﬁﬁlﬂﬂ
e

#qﬁmﬁaﬁaﬁmimammmwmﬁmm

v e & ford 3 21

‘ I 55
v [45 |46 |41 |48 [49 |50 |1 |52 53 |54

0.01
P(Y) 005|001 012 |0.14 025 | 0.7 [0.06 {0.05 {003 0.02
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5. A random variable Z, which represents the weight (in grams) of an article, has

density function,

(2—8) for8<z<9
f(z)= (10-—2) for9<z<10
0 otherwise

(i) Calculate the mean of the r;md()m variable Z.

. (i) The manufacturer sells the article for a fixéd price of Rs.2.
She guarantees to refund the purchase money to any customer who finds the
weight. of his/her article to be less than 8.25 grams. Her
.cost of production is related to the weight of the article By the relatioﬁ z/

15+ 0.35. Find the expected profit per article. ‘ (4+6) .

T AgfRed W 7, &1 Fed e fodl B, 9 U 98] & 99 (mﬁ)wuﬁtﬁmam

(z-8)  for8<z<9

f(z)=1 (10-2) for9<z<10
0 | otherwise

. | ‘ P.T.O.
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' ive. A simple
(ch of 10 of a product three are known to be defective. A P
atch

s a) Inab . _
- @ ze n = 3 is drawn from a batch of these product items.

random sample of s1

d the PMF and the CDF of the random variable X = number of defectjye
Fin 1€ i

items in the sample. 5
; . . .
()" Find an sxpression Tormesian and 90" percentile of the random variable

X if -

1
f(x)={ B_A ° A<x<B
0 otherwise ~

1}

(F) v S & 10 D 3 A O @ 9 & forg o o F) 5 IE aEgd B UE
S ¥ FEHR n =3 & UH GURY ARE W AR B @ 21 agRew W
X = = ¥ uqut qegai = wem w1 PMF 3k CDF 5 i)

(@) aRRo® W X & Wt o o0¥ wRmas @ g o s wE wX AR

3 1
f(x)={ B-A 3
0 otherwise

A<x<B
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SECTION W

Do any twae quextiony,
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Buses arrive ata specitiod Stop - [S-minute intervuls starting at 7 A.M.
Phat s, they arvive at 7, 7115, 7:30, 72458, and so on, 170 passenger areves
at the stop at a time that is uniformly distributed between 7 and 7:30, find

the probability that he waits at least 12 minutes for a bus. (5)

Let number of claims handled daily by an insurance company is Poisson
andom variable, If the average number of claims handled daily by an insurance

company is §,

(1) What proportion of days have less than 3 claims?

(i) What is the probability that there will be 4 claims in exactly 3 of the

next S days?

Assume that the number of claims on different days is independent

(5

The components of a 6-component System are to be randomly chosen from
a bin of 20 used components. The resulting system will be functional if gt
least 4 of its 6 components are in working condition. If 15 of the 20
components in the bin are in working condition, what is the probability that

the resulting system will be functional? What is the expected number of

components working? (3)

P.T.O.
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(i) R & faret s ¥ 3 2 A 7
(ii) T = MREw 2 R s 5 R X S 3% 4 TR BT
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(a) Suppose that a person taking Vitamin C supplements contracts an average.
of three colds per year and that this average increases to five colds per year
for persons not taking Vitamin C supplements. Suppose further that the

number of colds a person contracts in a year is a Poisson random variable.

(i) Find the probability of no more than two colds
« for a person taking supplements

« person not taking supplements.
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(i) Suppose 70% of the population takes Vitamin C supplements. Find

the probability that a randomly selected person will have no more than -
two colds in a given year.

(6)

(b) In a certain country, 30% of the adult male population smoke regularly. In

a random sample of 750 adults, what is the approximate probability that

(1) fcw_er than 200 are smokers?
(ii) 240 or more are smokers?

Which distribution will you use and why? (5)

(c) The lifespan of a car battery averages six years. Suppose the battery lifespan

follows an exponential distribution.

(i) Find the probability that a randomly selected car battery will last more
than four years.

(ii) ‘S-uppose a three-year-old battery is still going stfong. Find the

probabil'ity the battery will last an additional five years. 4)

(@) e e For T G o T A e i A S e g o
3 sk frefe @ % Tues T A e A @ for 7E sitew Al A W g T

g¢ W 2l st T e f v 9 W v e ot e g e 8, 98 diEe
m’gﬁ@fﬁﬂf‘él | |
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m——g1RY N\

. Wmﬁ%mﬁmﬁﬁﬁﬁq :

. aﬁawmqﬁ%m?:

H .0



3063 . »
; ' g

_ =8 Bl
. . ' quEnl & R
(@) T s 207, pp—— T b
urgﬁmrqf%mfﬁwaﬂ agmﬁﬂmfaamw%?.
(i) 200 ¥ A LHTT T A 87
(ii) 240 T afﬁa?q\maﬂ%'mﬁ%“?
mﬁﬂﬁmﬁﬁmaﬁﬂaﬁiaﬁ?
@) wﬁaﬁ.ﬁwmmwﬁﬁ?lmmﬁ*ﬁﬁﬁmﬁm
. freRoT W AR Rl B | '
(i) ¥ o @ W T AR agfow w1 A T R el T |
g A S TR o
(ﬁ)mﬁmﬁﬁﬂ#mgﬁ%ﬁaﬁﬁﬁﬁﬁwﬁﬁlaﬁémw
i T ) i S R

9. (a) Suppose 70% of all pvrchases in a certain store are made w1th credit card.

Let X denote the number of credit card uses in thc next 10 purchases. Find
(i) Expected value and Variance of X.

(i) P(5 < X < 8). | | | | | | )
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in discase i rtain count
(b) Suppose the monthly death rate due to a certain discase 1n & €€ y

' imati ability that in
18 [ per 100,000 people. Give an E]pp]‘OleaIlUn {0 .lhc pl‘Ob"lbl]l yin a

, an si ths due to -
city of 500,000 in this county there will be no more than six dea

()

disease in the next month.

: 27 and
(¢) The mean and standard deviation of SAT math exam scores Were 5

e istributed
120, respectively, in 2022. Assume that the scores are normally distr!

and answer the following questions,
(1) Find the 30th percentile,
(il) 1f your score is 700, what percentage of the students got higher e

than you in 20227 S

() 7kt i e v A X
10 Wit ¥ Be 7 & Jvdm 2 vy 9 2w 2
() X 3 s P

(i) P5<X<8)1

() e i s s v o e 0 3 e v o
inn,ouoshﬁﬁlénsaa%mﬁrwW%&wm@%snu,nou%m
v‘fmwﬁ%iﬂmﬂa}mm%mﬁiaﬁaﬁr

() 2022 % SAT W wen & mwaﬂmﬂrwﬁwm 527 3 120 1
ﬂﬁ?’t‘rﬁwﬁ;wﬁ?mm%ﬁaﬁa% aﬂiﬁﬁﬁlﬁaamh}mﬁﬁﬁl

()3omnﬁ‘rmamaﬁﬁfm

(i) uﬁmmmo% awmm%mmﬁm
o & 2022 #7

P,T.O.—” -
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SECTION 1V

Do any four questions.

=t e g3t &7 Ier o |

10. Let X and Y denote the number of four-wheeler and two-wheeler carried on a

trip. Suppose the joint distribution of X & Y is given in the table :

Ix\y—" 2 kS _ 6
1 1/5 0 1/5
7 0 s 0
3 1/5 0 1/5

(i) Are X & Y independent? Explain.

(i) Find the conditional distribution of Y given X=3. 2,3)

m‘ﬁrﬁm%xsﬂﬂ{mm-%mmﬁqﬁm IR Aufzan aEA @ FEr R WA
B A AT X & Y o wger Rewor wfere ¥ R w2 -

Ix\y— 2 4 6
1 1/5 0 ‘ 1/5
2 0 1/5 0
/5 0 1/5

(i) WXMYW%?W@I

(i) & X=3 T ¥ 7@ Y = @y W e i
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{1. Suppose that X & Y are two Continuous Random variables, given Joint PDF

f(x,y)= c(l-x)(2-v) 0<x<l, 08y=l
| 0 otherwise

. (i) Compute c.
(ii) Find the marginal PDFs of X and Y. (2,3) -

WW%XWYWW?I?@IWWWW%

i = c(l—x)(Z-—y) 0<x<l, 0<y<l
f(x.y)= 0 | s

(i) c @ I A

(i) X 3Rk Y & @i GEeE & gar TEe|

12. If X &Y are two independent random variables where P (1)=1/2, P (2)=1/2,

P,(1)=5/12, Py(2)=1/3, P,(3)=1/4 then
(i) Display the joint PMF of (X,Y) in a joint probability table.
(i) Find P(x +y <3). (3,2)
SR X FrE Y T agied W 8 WEl Py(1)=1/2, P (2)=1/2, P, (1)=5/12,P(2)=1/3,
P (3)=1/4 @ ' '

e ——— A R R i R )

(i) P(x+y<3) AC ol

BT.O.
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- e eviee facility 18 € lom
13. - The number of units sseviced in a week ata certain sery 1ce fucility 18 & randot

Find an upproxinmtiun to the pruhabilny

variable having mean 50 and variance 10,

the facility over the next 36 weeks

(5)

that the total number of units to be serviced.at
is between 1728 and 1872.
) S el g 2 W T AR

qmﬁﬁaﬁﬂm‘gﬁmﬁ'wmﬁm
' Wm%mségﬁ

o ® vt waew 50 SR faer 16 ) T WA 9
ﬁ'ﬂﬁwﬂﬂﬁﬁﬂﬂmﬁmmﬁﬁwﬁmma 3k 1872 @ = B

14. The average salary of Eco Hons graduated students is Rs. 53.600 with a SD of
Rs. 3200 |

(i) What is the probability that the average salary of 36 students is between

Rs. 32.000 and Rs. 55,0007

(i) If the sample size has been reduced to 12 students, can we s.till! calculate the

required probability in part (i) using the same method? Explain (3,2)

sﬁ ~ ' .
SR =T ST W ST A9 53,600 T 2 3 3@ @A SD 3200 TR B

(i) @wmﬁm%ﬁ% 36 Ty &7 siad JaT T 52,000 AR T 55,000, %
qAT 87

(ii) uﬁwaﬁnaﬁwu 1 % far T 2, W = e ndt o 3 R =
I7ART IR WA (i) W Sfer WRET o AUET SR Fehd 8 0 SRl iR
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A2 Appendia Tahlcs

Table A.1  Cumulative Binomial Probabilities B(x:mp) = EE bv:m, p)

an=5

095 099

050 o060 070 0.75 080 090

001 .000 000 000 .000
.007 000 000 000

0.01 0.05 0.10 o020 025 030 040

951 74 5590 328 .237  .168 078 031 .0l0 .002

090 069 922 B32 763 .672 410

0

I 999 977 919 737 633 528 337  .1BE  .0B7 .03 .0IG .
2 1.000 999 991 942 896 837 - .68} .500 317 .63 .104 058 .009 gg; gg?
3 1.000 1,000 1.000 993 984 969 913 BI2 663 472 367 263 .08] :226 fo-n
4

1.000  1.000 1,000 1.000 999 998

080 090 095 099

000 .000
001 ; ] . ]
904 599 349 J07 056 028 .006 . . ol iy v

99 914 736 376 244 149 046 .01 ".002 000 .000 e

81 .167 .055 .012 002 ,000 .000 . .
1000 988 530 67TR 526 L3RI . J e
382 .72 .055 .01l .004 001 .

1L.oou 999 987 B79  TI6 650 T o .pe0 PO
1.000 1,000 998 967 922 850 633 377 .66 047 . ] .l o

1.000  |.000 994 980 953 .834 623 367 150 078 033 .002 . '000
ooy 1000 1000 999 996 989 945 .B28 .618 350 224 .21 013 001 |
000 1000 1000 1.000 1000 508 ogg 945 .83} 617 474 322 070 012 .00
#9 1o Lo Lo 1.000 598 989 954 851 .756 624 - .264 086 .004
000 (000 1.000 1.000 1.000 1.000 1000 995 994 977 944 893 651 4ol .09

0.01 0.05 0.10 020 025 030 040 050 060 070 075

V®aon, Ll TR
-
P
g

c.n=15§

. 0.01 0.05 0.10 020 025 030 040 050 0.60 070 075 0.8¢ 090 o095 o099

206 .035 013 .005 .000 .000 .000 .000 .000 .000 .00 .000 .000
035 005 .000 .000 .000 000 000 .000 .000 .00
1.000 964 816 .398 236 .127 .027 004 000 000 000 000 .000 000 00O
1.000 995 944 643 461 297 091 018 .002 .000 000 000 .000 .000 .000
1000 999 987 836 .686 515 217 ..059 .009 001 .000 000 000 000 000
1000 1.000 998 939 .52 722 403 .ISI 034 004 .001 ..000 .00 .000 .000
1000 1.000 1000  .982 943 = .89 610 .304. .095 015 004 .00l 000 000 000
1.000 1000 © 1000  .996 983 950 787 500 213 . 050 .017 .004 000 000 000
1.000 ~ 1.000 1000 999 .996 .985 905 .696 .390 .131 .057 .018 .000 .000 000
1000 1.000 1.000 1.000 .99 .99 .966 .B49 .597 273 .148 061 002 .000 000
JOO0 1000 1000 1.000 1000 999 .91 941 .783 485 314 .164 013 .00l .000
1000 1.000 1000 1000 1.000 1000 .998 982 .909 .703 539 352 .056 .005 000

1000 1.000 1000 1.000 1.000 1000 1.000 .996 .973 .§73 764 .602 .184 .036 000
13 1000 1.000 1.000 1000 1000 1000 1.000 1000 .995 565 .920 .833 451 a7  .olo
14 1000 1.000 1000 1000 1.000 1,000 1000 1000 1.000 .995 947 965 794 .§37 .140

{comtinued)

260 463
990 829 549 67 0RO

Chpyright 2010 Cengage Lanrming. All Pighes Rencrved, Muy mot be sopied, sounnad, e duplicated, in whils of 5 per. Due 9 ehatumie Fighn, wume thind pary euntent snay be soppresed from the cBuck snd rr e hapers),
Edinarla} revicw hus dotmod that sny suppressed comicnd doct mot et the It Icarming evp mﬂ#lmmhdwhmwwn-gwwm-d#mmh

P.T.0.
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inities (contd - Bi‘:-.p)-f?.&(r:-p)
rable At Cumelathe s!nmnhlmb-""'""“( . —
r

M o70 075 0sSo 090 0SS 099

s 358 122 o012 o0 01 000 000 000 000 000 000 000 000 000

o &3 ;e m & Q0 oos o1 000 o0 000 6% 000 000 000 .00
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A4 Appendix Tabiles .
Table .1 Cumulative Binomial Probabilities {cont.) B(xim p) ™ E blvin )
e n=1% u .
____——-—.—'_'_-_-__—'__—._-_'_-
P 080 090 095 099
001 005 010 o o025 030 040 050 0s0 o070 075 77 000 000 .000
0 18 217 o1 001 o0l 000 000 000 000 000 F o go0 000 000
1 998 s2 o1 g 007 ooz 000 000 000 00 GHL o fono 000 000
2 998 873 .§37 098 032 .09 000 000 000 ‘000 000 000 000 .000
3 1000 966 764 234 096 033 002 000 .000 % o0 e 000 000 000
4 1000 993 902 421 214 090 009 000 000 . 000 .000 000 000 000
5 1000 999 967 617 378 .93 029 002 000 "33?, ‘000 000 000 000 000
6 1000 1000 99 70 s61 341 01 007 000 GOH L goo 000 000 e
7 1000 1000 993 g9t 727 .51z 054 022 ‘000 000 .000 000 000 .
§ 1000 1000 1oop 953 .S 677 274 034 004 000 LU o go0 000 000
9 1000 1000 1000 983 929 81 425 15013 o 000 000 000 000 000
10 1000 1000 oo 994 970 02 586 212 0% -ggs ‘oo1 000 .00 000 000
I 100 1000 |0 ‘o8 s 9s6 .z S 078 006 GO oy g0 000 000
X 12 1000 1000 1000 1000 .997 -;gi i e ;:; ‘044 020 002 .000 -ggg -m
13 1000 1000 1000 1000 999 ; ’ ) 3 K 000 :
14 1000 1000 1000 1000 1000 .998 966 .788 .Ald o .?1:«(: ooﬁ 000 000 .000
15 1000 1000 1000 1000 1.000 1000 987 .885 575 -1§9 ‘L9 047 000 000 .000
16 1000 1000 1000 1000 1000 1000 99 946 726 33 . 100 002 .000 .000
17 1000 1000 1000 1.000 1000 1000 999 978 .B46 488 213 . 0 _009 000 .000
18 1000 1000 1000 1000 1.000 1000 1000 993 926 659 439 .22 033 001 .000
19 1000 1.000 1000 1000 1.000 1000 1000 998 71 .807 622 38 : o0
20 1000 1.000 1000 1000 1.000 -1.000 1000 1000 991 910 .786 579 098 007 .0 p
21 1000 1000 1000 1000 1000 1000 1000 1000 998 967 904 .766 236 034 .00
22 1000 1.000 1000 1000 1.000 1000 1.000 1000 1000 991 968 902 463 .27 .002
23 1000 1.000 ' 1.000 1.000 1.000 1,000 1000 1000 1000 .998 .993 973 .729 A58 026
24 1.000 1.000 1.000 1.000 1.000 1000 1000 1000 1000 1000 999 996 928 723 222
7 - - LT x e-ll
TableA.2 Cumulative Peisson Probabilities =3 ”u?'
=0
".
B 2 3 A 5 6 B 8 9 1.0
0 905 819 J41 670 .607 549 497 449 407 368
| 995 982 963 938 910 878 844 809 a7 136
2 1.000 999 996 992 986 M 966 9353 937 920
x 3 1.000 1.000 999 9938 997 9% 991 987 931
4 1.000 1.000 - 1,000 999 999 998 996
5 1.000 1.000 1.000 999
6 . : 1.000
{conrinued)
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Table A2 Cumulative POESOT probabilities (cont) )= &
RN o A==
/F
I
= =5 in 50 &0 70 80 9.0 10.0 15.0
018 007 002 -001 -000 -000 .000 .000 .
o o0 o o o7 07 003 .00l 000 000 .
1 & = 238 125 062 .030 014 .006 .003 .000 :
3 557 647 433 265 -151 082 032 021 010 000
El 947 S15 629 440 285 173 -100 055 029 .001
436 301 191
983 916 785 616 116 067 .003
: . 995 966 £59 762 505 -150 313 207 130 .008
7 599 588 949 867 744 599 453 324 220 .018
§. 1000 995 979 932 547 -7129 593 456 333 037
9 999 992 968 916 -830 J17 587 A58 .070
10 1000 - 997 985 957 -501 816 .706 583 .18
1 999 995 980 947 .888 .803 697 185
2 1.000 998 K] 973 .936 876 - .92 268
53 999 996 987 966 926 864 363
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A6 Appenca T

Table A3 "Standard Normal Curve Areas
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Table A3 Standard Normal Curve Areas (cont.) ] ________ﬁ______"’ﬁl’_”‘iﬁ
z .ao .01 .02 .03 04 .05 .06 o7 08 09
0.0 .5000 .5040 -5080 5120 5160 5199 5239 5279 5319 5359
0.1 .5398 5438 .5478 5517 .5557 5596 .5636 5675 5714 5753
0.2 5793 .5832 5871 5910 . .5948 5987 G026 G064 6103 H141
03 L6179 6217 .6255 L6293 6331 L6368 6406 6443 6480 £517
04 L6554 .6591 6628 .6664 L6700 6736 6772 6208 L6R44 £879
0.5 6915 6950 6985 7019 7054 .7088 .7123 7157 7190 7224
7257 .7291 L7324 .7357 .7389 7422 7454 L7486 7517 7549
7580 7611 L7642 7673 .7704 7734 7764 7794 7823 7852
-7881 -7910 -7939 7967 7995 .8023 L8051 L2078 8106 8133
8159 8186 8212 L8238 ~ 8264 .8289 8315 8340 8365 .£389
8413 .8438 8461 .B4B5 .B508 .8531 © 8554 8577 2599 8621
.B643 8665 -BEEE .8708 8729 | .BT49 8770 8790 _BR10 _E830
8839 .8869 .8888 .8907 8925 .8944 _B962 8980 £997 .S015
.9032 2049 2066 9082 L9099 9115 .9131 9147 9162 5177
9192 9207 9222 9236 9251 9265 9278 5292 9306 9319
1.5 .9332 .9345 9357 .9370 .9382 9394 9406 9418 9429 9441
1.6 L9452 .9463 9474 L9484 9495 .9505 9515 9525 9535 9545
1.7 9554 9564 9573 9582 9591 9599 9608 5616 9625 9633
1.8 L9641 9649 9656 9664 L9671 9678 9686 9693 9699 9706
1.2 9713 2719 9726 9732 9738 9744 9750 9756 9761 9767
2.0 9772 9778 9783 9788 9793 9798 .9803 9808 9812 9817
2.1 2821 9826 .9830 9334 9838 9842 9846 S850 9854 - 9B57
2.2 .9861 9864 L9868 9871 - 9875 9878 .9E8EI] 9884 9887 5250
23 9893 9596 9898, - 9901 9904 9906 9909 2911 9913 9916
2.4 9918 9920 . ..99%2 9925 9927 .9929 2931 9932 9934 9936
2.5 .9938 9940 9941 9943 9945 9946 .5948 9949 9951 9952
26 9955 9956 9957 9959 9960 9961 9962 .5953 5964
2.7 9966 9967 9968 9969 9970 9971 9972 9973 9974
28 9975 9976 9977 9977 © L9978 9979 5979 9980 5981
’ 29 : 9982 9982 9983 9984 9984 9985 9985 9586 G986
Ay ;.‘ 3.0 9987 2987 L99EY 9988 5989 9989 9989 5990 9990
e 3.1 . .9991 9991 © 9991 9992 9992 9992 9992 - 9993 9993
— 32 9923 9994 9994 9994 9994 9994 9995 ..9?‘35 9995
. - 33 5995 9995 9996 9996 9996 9996 9996 9996 9997
3 3.4 9997 9997 9597 9997 9997 9997 9997 9997 9998
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Your Roll No.ewer -
D
Sr. No. of Question Paper : 1255
Unique Paper Code ;2924001008
Name of the Paper . Principles of Economics
Name of the Course : B.A.(Hons.) Business

Economics - BBE

Semester s

Duration : 3 Hours Maximum Marks : 90

Instructions for Candidates

1. Write your Roll No. on the top immediately on receipt
of this question paper.

o

Simple Calculators are allowed

3. Attempt any 5 questions

1. (a) Describe the factors that lead to:

P.T.O.




a shift of the demand curve, and

)

(ii) movement along the demand curve. (10)

(b) Describe the consumer surplus and producer

8
surplus. )
2. Differentiate between income effect and substitution
effect. (18)
g (a) Discuss the various macroeconomic issues in the
economy. (10)

(b) Discuss how the subject matter of macroeconomics

is different from the subject matter of

microeconomics. (8)
4. (a) Explain the four sector circular flow of income
model. (10)

(b) What is the difference between GDP at market

<
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1255 3

price and GDP at factor income? How can we
convert GDP at market price to NNP at markey

price? (8)

5. Determine the equilibrium GDP or equilibrium income

diagrammatically. Also, explain the consumption

function. (18)
6. (a) Discuss the law of variable proportions. (10)
(b) Explain the quantity theory of money - (8)

7. (a) Calculate the National income and GDP at Market

Price from the following:

Factor income ‘recei'vcd from abroad= 20
Consumption of fixed capital =30
Subsidies = 10
Indirect Tax = 40

P.T.0.
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Factor Income Paid to abroad = 30

NDP at Factor Cost = 250 (5+5)

(b) Suppose Original Quantity'is 30 units and original
[Srice is 10 rupees. There is an increase in the
price by 5 rupees and the fall in the quantity by

10 units. Determine the price elasticity of demand.

' (8)

(500)
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Sr. No. of Question Paper : 3159 : D
Unique Paper Code : 2312201101 DSC 1
Name of the Paper : History of India  from

Earliest Times upto c. 300 CE

Name of the Course : B.A. Programme

Semester ] |

Duratibn : 3 Hours Maximum Marks : 90
wE ;3 e quitss : 90

Instructions for Candidates

1. Write your Roll No. on the top immediately on receipt

of this question paper.
2. Attempt any Four questions.
3. All questions carry equal marks.

4. Answers may be written either in English or Hindi;
but the same medium should be used throughout the

paper.
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1. Write an essay on the importance of archaeological
sources for the study of ancient Indian history.

mmmam%mmma
mwwﬁwﬁrﬁa&l ~ 5

2. What are the main features of the Neollthlc cultures'-
of India? Discuss.

M o T wept o w yer Rawad 7 R
Fifor |

: _ ‘Describe the society and economy of the Harappan
2 LN cmhzahan, '




3159 3
e T W) AT vd Snfier waer &1 auie aitord |
4. Discuss the polity and religion dﬁring the early Vedie
period.
e T Fw AN Tswsrae vF e @ fAdwr i

S. Analyze the reasons of the rise of new religious sects

in the sixth centurjr B.C.:

iwmﬁa&mﬁmq\m%mﬁmm'
fawswor iR |

6. Highlight the main features of Mauryan administration.
W v A e Rl Wy S

7. Write an essay on socio - economic conditions of
Peninsular India during Sangam period.

_ mm%ﬁmmﬁmwaﬁmﬁmwmﬁmm
wwﬁwﬁﬁaﬁl

Write short notes on any two of the following :

&+ (a) Literary sources

I\"t'ﬂ



wsy . Tagen e

(b) Rock art

(c).Mahgjanapadas

(d) Kanishka
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Your Roll No...............

Sr. No. of Question Paper : 3160

Unique Paper Code 2312201101_DSC 1

History of India from

Name of the Paper
Earliest Times upto c. 300 CE

Name of the Course : B.A. Programme

Semester , e

Duration : 3 Hours Maximum Marks : 90

g ;39 - ' quitss : 90

Instructions for Candidates

1. Write your Roll No. on the top immediately on receipt

of this question paper.

2. Attempt any Four questions.

-

3. All questions carry equal marks.

4. Answers may be written either in English or Hindi;
but the same medium should be used throughout the

paper.
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FqwA T | | }
2. Mmmﬁ%mmn a _

3 muﬁﬁaﬁ;m%‘l

4. TEVEH-TUF FTIN mmﬁﬁ&ﬁww%ﬁf&q ﬂﬂw
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1. Evaluate the importance of literary sources for the
reconstruction of ancient'lndian history.

mﬁwmﬁu:ﬁzm%wm%mﬁmﬁlﬁ%ﬂmm
W‘cﬁf&ﬁl

2. Discuss the salient features of Palaeolithic and
Mesolithic cultures of India.

Wwwwﬁﬁtaﬁgmﬁmﬁmaﬂw
!ﬁﬁﬁl

3 erte an essay on the declme of Harappan:
'-cmhzatlons :

W



3160 . 3

_ m'mﬁmwwmml

4. Outline the main features of society and economy as

reflected in the later Vedic literature.

I e witw ¥ wRRfeE @aw @ sferEe H T
RAvast = e W

‘The changing socio-economic conditions of the sixth
century B.C. provided a base for the rise of Buddhism

and Jainism’. Examine.

4y TR TR @ R T a Sm
Fdlg 9 A9 W @ I@ W AUN WR HAr' | wqEw

i |

Discuss the main features of Mauryan economy.
A sforaen & e ffvas it e ik
Write an essay on the importance of Sangam literature

B for the study of Tamilakam.

. OfeEw o @ o @ faw W ARE B e R
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Your Roll Nou.voossesereses

Sr. No. of Question Paper : 3182 D
Unique Paper Code ;2312201102

Name of the Paper . Ancient Societies

Name of the Course . B.A. (Prog.) History (Major)
Semester il

Duration : 3 Hours - Maximum Marks : 90

Instructions for Candidates

1.  Write your Roll No. on the top immediately on receipt
of this question paper.

2. Attempt FOUR questions in all.

3. All questions carry equal marks.

4. Answers may be written either in English or Hindi;
but the same medium should be used throughout the
paper.
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Your RO“ No.u.....u.un

~ Sr. No. of Question Paper : 3159 D
Unique Paper Code : 2312201101_DSC 1
Name of the Paper : History of India ff““‘

Earliest Times upto c. 300 CE

Name of the Course . B.A. Programme
Serﬁcster =551
Duration : 3 Hours | Maximum Marks : 90

. W 3w it : 90

Instructions for Candidates

1.  Write your Roll No. on the top immediately on receipt

of this question paper.
- 2. Attempt any Four questions.

3. All questions carry equal marks.

4. Answers may be written either in English or Hindi;
but the same medium should be used throughout the

' paper.
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Wﬂte an essa_',r on the lmportance of archa
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: What are the main features of the Neohthlc el
of India? Discuss.
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Your Roll No.ceeereeainnns
Sr. No. of Question Paper : 4522 C
Unique Paper Code : 12311348
Name of the Paper . History of India - IV

(c.1200-1500) (New Course)

Name of the Course : B.A (Hons.) History
Semester 111
Duration : 3 Hours Maximum Marks : 75

Instructions for Candidates

1. Write your Roll No. on the top immediately on receipt
of this question paper.

2. Attempt any four questions.

3. All questions carry equal marks.

4. Answers may be written'either in English or in Hindi,
but the same medium should be used throughout the

paper.
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2. B Wk T & I= AR

3 wh g B F g Bl

T WET-UF W IR el ar BRH FR v W A ARk,
AT T I &1 WeAw g & B =kl

1. Critically analyse the varied historiographical
perceptions of Zia Barani's Tarikh-i Firuzshahi. Was
it the most vigorous Persian Tarikh of all?

foran o 9t aika - v iR <9 /At Mdefis awomsy
T FAEAE fagawer ARk w1 98 wed que BRE
qaiE o 7

OR
SREN]

The Malfizat texts emerge as an important genre of
Sufi literature. Are they valuable to reconstruct
aspects of social and political history ?

Wﬂﬁqwmaﬁwwm%mﬁmﬁ
%lw%mmmﬁmm%q@aﬁéw
* fore ww=Ee @ 7
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8

Examine the importance of inscriptions to study the
Kakatiya history.

mm%m%maﬁﬁﬁ%maﬂﬁm
A

Discuss the evolution of the Igta system in the Delhj

Sultanate. Has recent research changed the perception
related to it ?

ﬁﬁwﬁmw%ﬁaﬂﬁﬁﬁm|wm
® WU T I WA UR FY Gew R 2 2

Assess the different elements evident in the political
culture of the Vijayanagar state.

faeraR Ted it aerifoe deE ¥ efed v gt @
HHAT HifoTg|

Analyze the evolving perceptions of the Qutb Complex.

g IR Sl FHRT B g2 urona & fwew S

P.T.0.
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6. Evaluate the different aspects of rural economy and

technology during the period of your study.

ST ST W & SR Al srferaedn 3 W
= wegstt = wET AR

~]

Do you agree with the view that the popular
monotheistic movements which were represented by

Kabir and Nanak has socio-economic base?

N AT 3 AR ¥ 959 2 ff Aielig vahvawars siae,
e gfaffoe w6k 3w = T o, =1 o - s
MR a1 ?

8. Describe the emergence of the women saints in
Medieval Indian society.

TAGREI A WA ¥ ARl g D 9ewd w aui
S|
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India (c. 1930-1990)
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Instructions for Candidates

. Write your Roll No. on the top immediately on receip!

of this question paper.

rJ

Attempt any four questions in all.
3.  All questions carry equal marks.

4. Answers may be written either in English or Hindi:
but the same medium should be used throughout the

paper.
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3

4.

Do vou agree that the Constituent Assembly frameq
O YU o e

India’s constitution as an instrument to achieve socjg]

f Ot G 7 T -
revolution and modernization? Elaborate.

T 3T 7F A A 4EFA ¢ T AU /e A R & wfe

A |EfrE FE AR FUFFE W FE R W F oy
¥ T a1? famwr # fofEn)

Is it correct to argue that the formation of cultura]

and political identities based on languages was decisive

in the reorganization of states after independence?
Elaborate.

F T T A A R A ovEE T & qie
AW & UK W RS R A wee & B
froiaes fag gan? fmwr A fafau

3. Discuss the salient features of the first two five years
plans adopted by the Government of India.
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wn

OR /=

[s 1t apt to argue that the industrial and agricultural
development policies adopted by India resulted in the
creation of unevenness in social and economic
development? Elaborate by comparing the examples

of Punjab and Bihar,

4 A% .3FE 2 fF owwa gm swer W st
fawmE & s Ao 727 wome R faww & Jewwen @@t
T e A e

Discuss the salient features of the Non-Aligned
Movement. To what extent was Nehru successful in

adopting an anti-imperialist foreign policy?

Tefarte seeE #t yiE e &t g i) amraae
fareh faRw Fifg 3w § e g 82 9% 9wa @7

Discuss the role of the political parties in the
democratic transformation of India in the first three

decades of independence. Elaborate one of the
following case studies: (a) One-Party Dominant
System (b) Left Parties (¢) Dravidian Movement.

WA H TR A T A ARG F A qRaaT A
Toriiaeh e &t e @t e Aife Feffaa 3o
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Discuss the pnlilical and economic context of the IP

movement. Is it correct to argue that the JP movement

created critical political atmosphere leading to the
2y

imposition of the Emergency of 1975-77
éﬁimémﬂ%naﬁﬁm&ﬂ?aﬁamﬂaﬁﬁ%m F 0|
wwﬁhm%%ﬁmﬁms-n%
FOEEE H AN A & o el AN AR
=’

How did the V. P. Singh Government's proposal 1o
implement the Mandal Commission recommendations
on reservation transform the political discourse on
caste 1n India?

SRET TR S @ R @ e & AL e
wEn ® wEE ¥ AwE ¥ Wi W aedtaE e @ oae
e fear?

Do you agree that the themes of popular cinema

reflected the changes in socio-cultural milieu in

independent India? |
a1 19 36 99 A e # {6 Arfyg e @ fawa
Y W WE ¥ A - weged aRam d weeE @
gfafafea far |

(4000)




This questi aper ¢ |
[ 1 O paper contains 4 printed pages. ]

Your Roll No.coecececnss

Sr. No. of Question Paper ;. 3881 C
Unique Paper Code © 62314360
Name of the Paper . History of India, (. 1200-1700

(New Course)
Name of the Course . : B.A. (Prog.)
Semester 0 b
Duration : 3 Hours Maximum Marks : 75
w3 "o : ot : 75

Instructions for Candidates

1. Write your Roll No. on the top.immediately on receipt
of this question paper,

2. Students must attempt five questions.
3. All questions carry equal marks.

4. Answers may be written either in English or Hindi;

but the same medium should be used throughout the

paper.

@ fog Hdw

1 3 UYE-99 @ fied & 3w e ww RuilRa = w suen
FAten fifig |

B.T.0;




3881 2

2 g e T R R 3 s 2

3 It T @ AEEE T
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What steps did Balban take to consolidate the Delhi
Sultanate? Discuss it with special reference to the

theory of kingship.

TR Rl gee N g3 w9 D fw = wiew Iaw?

-sﬁa‘am%ﬁm%ﬁﬁwﬂ?ﬁﬁmmﬁaﬁml

Assess the economic reforms of Alauddin Khilji.

FARET Raeeh & s guR & ARiET S

Discuss .the nature of Vijayanagra state with special

reference to the Nayankara system.
TR e @ R wet ¥ v e @ @
e ik

Critically analyse the various stages in the evolution

of Mughal relation with the Rajputs.
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T - W6y D w8 R ol &1 JeeEss
[EES L g e

Evaluate the various stages in the evolution of Akbar’s
religious ideas with special reference to Sulh-i-kul.

RS | %ﬁﬁuaﬁﬁm%aﬁmﬁaﬁ%m
%ﬁﬁwa@mm@ma"tﬁr&n

6. Evaluate the emergence of Maratha state under '
Shivaji.

| st & sl Wer o5 B SRy W TRiET SR

7. Trace the contribution of Akbar & Jahangir to the
origin and development of Mughal miniature f)ai'nting.

o aY ForFswen &t 3@l s Rem § s ik seeR
T ANERME H @lhd Fifer

8. Trace the contribution of Kabir and Nanak to medieval

k
.
;
3
]
:

society.
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Fifem| |
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9. Examine the role of commercial practices with gpeci
peci

al
reference to usury under the Mughals. |

WA 3 i AN D R vt ¥ i e @
Wi @1 Qe i
10. Write short notes on any two of the followings :
(i) Igta system
(iij Aurangzeb’s Deccan policy
(iii) Fatehpur Sikri
(iv) Chakki-nama and Charkha-nama

(v) Maritime trade in seventeenth century
el & W G ot ford

(i) Tar WO

(i) o @ TEET Al

(ili) weER FHI

(iv) =eet-=m SR = -

(v) aaed waed ¥ AfEe R
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1. Discuss the changing character of the nobility under
Delhi Sultanate during the 13 and 14" centuries.

13ﬁfamé’fmaﬁaifﬁo—v%m%anﬂ=raﬁzaﬁ%aaa% |
T W& o fAzawn ik

2. Review the projects of Muhammad-bin-Tughlaq in the
light of his personality.

Hewe - fae - erern %-axf&aa'%mi’fw%uﬁﬁaﬁ
e | |

- 3. Assess the nature and significance of the Nayankara
-Sysfém under the Vijaynagar rule.

AT R T % a@wwm%m IR BT &

- i

4. Bring out the major features of the Mansabdari system
during the 16" and 17" centuries.



3945 iy

R UHw Tiferd) |

Discuss the various factors for the rise of Marathas
during the 17" century:

7R e ¥ W D 9w @ R Seredt R S
H U S

6. “Fatehpur Sikri represents the architectural expression
of imperial power”. Discuss.

“Thdeq{ A Sl TACIEREl WE Widd AN el
27| =l HiNw

7. . Discuss the role that Chistis played in the growth of
Sufism during the Delhi Sultanate.

ﬁaﬁw%aﬁmqy‘ﬂaw%ﬁﬁﬁﬁmﬁa&ﬁﬁw
T HIgI

8. Discuss the growth and impact of European trade in
India during the 17" century.
m.mswwﬁ@ﬁmmsm 3R o
it fadw &l

P.T.O.
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9. Describe the different approaches of historians to the
study of the Mughal Empire.

A U9 D FAGT & IaeEan & [ sicaon =1 i
Bl | |
10. Write short notes on any two of the followings :
(1) Iqta System |
(1) Market regulations of Alauddin Khalji
(i11) Nanak
(iv) Mughal miniature painting
(v) Abul Fazal
sl ot w aftra feoqun 1%‘11%:_
(i) s =Een
(i) FAPET @Al & SNk JAfaH
(iii) ==H

(iv) I &g R=sen
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1. Discuss the character and Composition of the Sultanate
ruling class during the 13% & 14t centuries.

138 3R 148 TR ¥ A T o 2 wey 9 AT
H = Fifm

2. Write an essay on Alauddin Khalji’s market control
policy. :

FASEE el @ TR Paaw R w vw Paa BRw

3. Outline the nature and significénce of Nayankara

system in the administrative set up of Vijaynagara

rule.
RTIR T 2 e e & @ 3 TOER S
% W T e B TR gard!

4. Mansabdari & Jagirdarj systems were the twin pillars
of the Mughal admiﬁistrative structure.




9.

Discuss the rj |
ris - ,
€ of the Marathas in seventeenth

an with reference to Shivaji.

74 - |
17 TS SR F Ry 5 geef § AST oA i @G
HiI|

Trace th ' o i | )
€ various stages in evolution of Qutub

complex under the Sultans of Delhi.

feeell & Feart I g e & faewrE @ R swon
1 Y@ifha Tl |

Explain the social ‘and ideological bases of the
teachings of Kabir.

o L U IuiRe SR T

e the pattern of EurOpean trade in India during

Examin
the seventecnth century.

| mﬁm@mﬁ@ﬁqw-%hﬁquﬂmaﬁﬁ@

of Mughal . . |
| - : _- P.T.O. ‘



10. Write short notes O any tywq o (o followings :

(i) Igta system

(i) Muhamm‘ad bin Tughlaqlpmjects

(iiil) Hampi

(i§5 Mughal miniature painting

(v) Aurangzeb’s Rajput Polic-y
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Critically analyze the composition of nobility during
the 13th and 14th centuries.

Isﬁaﬂtlaﬁmﬁ%%ﬁaﬁtaﬁﬁmm
AT fageiyor S

Describe the experiments of Mohammad-bin-Tughlaq.

T - o - g Y Aweist @ avi i

What was the role of the Nayankara system in the
administration of the Vijayanagara Empire? Discuss.

ﬁmm%wﬁaﬁwﬁaﬁwiﬁmeﬁ?
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4.

Trace the development of the jagirdari system from
Akbar to Aurangzeb.

JFR A N IF WRIREIY Jaen @ fAwm &1 auA
Eaiivid

Analyze Akbar's Rajput policy.

FFR H TOId A w1 fRAwewo A

Discuss the different stages of the Mughal-Maratha

conflict.

TA-TST TN & A =on &t fag=mn ik

The city of Hampi was a reflection of imperial power.

Discuss.

T TET el 91 1 wiafes oam faEsmr i

Evaluate the importance of the Chisti silsila in the

medieval period.

e A el Refder & Mew o1 Teie i) .

P.T.O.
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S

10.

How the Mughal Empire has been portrayed differently
by contemporary historiography?

TS SEESET 21 3ET 9iEed o6 fohd 9ehiR STe T @91
Ja e mar = 27

Write short notes on any two of the following:

(i) Iqta system
(ii) Alauddin's Agrarian reform policy

(1i1) Mughal Painting under Jahangir

(iv) Kabir

(v) Maritime trade in 17" century
&3 =t ax wferea Roaon o

(i) === women

(ii) SS9 =5 SN g S

(iii) SERTR = = JqIA ==
(iv) ===

(v) 1750 mrar=st N |@HEl SAaR
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4.
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Discuss the changing character of the nobility under
Delhi Sultanate during the 13" and 14" centuries.

1BE T 14F TR ¥ ol Goaww @ InNT SHER T & Faed
B¢ W& &1 fQgawer Sifvm

Review the projects of Muhammad-bin-Tughlaq in the
light of his personality.

e e - T - g & afdaa & o d 3§ W a9
e Shiforgl

Assess the nature and significance of the Nayankara
system under the Vijaynagar rule.

Yy ; & & .
AT hiferdl '

‘Bring out the major features of ﬂ.]e‘ Mansabdari system
during the 16" and 17" centuries.
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AeEdl T FTEd T @ Heq FEEeN) ATl & e A
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5. Discuss the various factors for the rise of Marathas

during the 17" century.

1ﬁm&ﬁﬁm%m%ﬁqaﬂw@ﬁﬁ?m
i el '

6. “Fatehpur Sikri represents the architectural expression

of imperial power”. Discuss.

-“Wmaﬁwmmﬁaaﬁaﬁaﬁmﬁ
27| e H | |

7. Discuss the role that Chistis played in the growth of
Sufism during the Delhi Sultanate.

| ﬁﬁﬂw%ﬁﬁ@aﬁ%ﬁmﬁﬁﬁaﬁraﬁwﬁﬁ
& = gl

8. Discuss the growth and impact of European trade in
India during the 17" century.

TRl R & A W i AR & faehr R o
| a?rﬁaw aﬁﬁm
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9. Describe the different approachcs of hlstorlans to the
study of the Mughal Empire.

Wm%wﬁgﬁm%‘ﬁﬁﬁmwaﬁ#
|

10. Write short notes on any two of the fbllowings :

(1) Iqta System
(i) Market regulations of Alauddin Khalji
(i) Nanak

(ivj Mughal miniature painting
(V‘). Abul Fazal

el &t W it oot ford
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(i) FAIET Eeolt B TR St
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(iv) e w1 Reehen
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1. What steps did Balban take to consolidate the Delhi

Sultanate? Discuss it with special reference to the

theory of kingship.
T F ool A A gge W B g @ wen sore?
I T D Rerw @ Rl wet ¥ we a9k

2. Assess the economic reforms of Alauddin Khilji.

mﬁq%ﬂﬁ%mﬁmw_mﬂﬁmﬁml

3. Discuss the nature of Vij ayanagra state with special
reference to the Nayankara system. ' ‘

Wwaw%ﬁﬁwﬁaﬁ%%w;m%wa&
e =+ -

4, Critically analyse the various stages in th‘e evolution
df'Mughal relation with, the Rajputs.

™
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T - ey & RwE @ R Tl & S
Tt =hifre1

Evaluate the various stages in the evolution of Akbar’s

religious ideas with special reference to Sulh-j-kyl.

TEE-gd @ [ ¥ ¥ Jow & ufeE R 2 5oy
= = ol =1 sedEw fkml

Evaluate the emergence of Maratha state under
Shivaji.

ﬁﬁmﬂ%aﬁqmma‘?wﬁrmﬂﬂ?ﬁﬁﬁm

7. Trace the contribution of Akbar & Jahangir to the

origin and development of Mughal miniature painting.

T oY R 9 I it e ¥ s i ek
& ANEH Y YEnd Sl

. - Trace the contribution of Kabir and Nanak to medieval
society.
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Fifg|
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9.  Examine the role of commercial practiceg Wwith special
reference to usury under the Mughals.

T B ol T D R o e gy
TR @ glem iR

10. Write short notes on any two of the followings

(1) Iqta system

(i) Aurangzeb’s Deccan policy

(iii) Fatehpur Sikri
(iv) Chakki-nama and Chafkha-nama
) Maritime traae in seventeenth century
Bedl & w e R ot
(i) =T worch
(i) smm = TR iy
(iii) weEg A
(iv) <t~ 3R =~ =

(v) @l vo=dt ¥ qEie =mw
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Examine the significance of the Iqta system i the

financial working of Delhi Sultanatc.

Rl Weaere 9 Ry el ¥ Fo Eel & e
qAHT Fog|

Discuss the challenges that confronted Balban in his

attempts to establish his authority.

mwwﬁamﬁ%mﬁwaﬁﬁﬁiﬁﬁﬁw
RFT T TR '

Describe the Vijayanagar-Bahmani conflict. To what
extent did it impact the political fortunes of the

Deccan?
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4. Discuss the main features of the Mansabdari system.

Wﬁw-%ﬂiﬂwwaﬁ?ﬁﬁ{ql

5. Critically evaluate Mughal - Rajput e
Akbar to Aurangzeb.

FFR ¥ A" ® P qH AE-TOYT =t @
HATAER el DY |

6. Analyse the growth of Maratha state under Shivaji.

fiEnt & v el T & Ieg =1 RAwwn Sfw |

7. Examine the growth of architecture under the Mughals
from Akbar to Shahjahan.

FHR ¥ MBSl & @A 96 W WUGF & e &
e R

8.  Explain the social and ideological basis of the teachings
of Kabir. | '
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9. Discuss different approaches to the study of the
Mughal Empire. |

A WA & A By Rfarer gReaol 19U <hifore]

10. Write short notes on any two of the followings :
1. Alauddin Khalji's market regulations

2. Transfer of Capital

3. Sufism
4. Mughal miniature painting

5. Maritime trade
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1. To what extent were endogenous contradictions crucial
determinants in the transition from feudalism to

capitalism.

g GFT T@ AARS ey THaae ¥ gotde @ Gl
¥ fFuiges Fuke A

2. Elucidate the distinctive traits of the Spanish or
Portuguese empires with special reference to mining

and plantation sectors.

T IR S a9 @ v el ¥ @ srEr gt
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3. Examine the socio-economic roots of the Renaissance

in Italy.
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4.

Eeﬁﬁg?aﬁm%mﬁﬁ—aﬁﬁﬁ?fﬂqﬂm e

Evaluate the cultural developments of the Europeéan
Renaissance.

T YR & Aeptd Rww @ T S

Trace the origins of Reformation in Germany and
England.

THA UF IS W OCNEUR el o Ieafa @ w9- @l
EESCREH B

s

Analyze the main economic developments of 16th

century Western Europe.

1681 Tt iR T W e e e @ e
Eal

Outline the causative factors that led to the Price
Revolution. What was its impact on the European

economy?
P T.0.
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Wm%ﬁqﬁﬁmm%wﬁaﬁiﬁﬁﬁa&ml
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8. The State system in Western Europe is associated
with the strengthening of the monarchy. Discuss with

reference to any of the following : England/France/
Spain/Russia.
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Eal
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SECTION A

Attempt any Six questions. (S marks eacj)

FE B 6 g7 5T W (TAF 5 HF)

1. The equation of the Phillips curve for an economy is

given by :
[1Tt-01-2s, where TE-TL,

€
Where Ht , 1s inflation rate and Ht is the expected

rate of inflation.

How will the slope of this curve change if 60% of
workers have indexed labour contracts? Derive the

expectations augmented Phillips curve and explain

(5)

your answer.

U Srfaer & o fRfern @ o1 weiter o1 Ba R

TR

H: —I_I:'=0.1—2ut ET H::—_ HH
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wi [, e < 3 o |1, spreife <6t v
1Al 60% A & T FHeE o Iy, T W T
A T DY Feo ! wenn wafeia e aw Wt i
IR I I = =rEn iR

Derive and explain the relationship between price,
expected price, and output from the wage setting and

price setting relations. (5)

g, Fuior 3k = Fufor el @ e, wefia 1w ok

SR & a9 6 B g AR AR e

3. Consider the IS-LM model with government
expenditure and taxation in a closed economy. A
change in the income tax rate influences the
equilibrium outcomes from (y = 3000, r = 4%) to
(y=3500, r = 6%), where y, r denote income and
rate of interest, respectively. It is given that a unit
increase raises the demand for real money balance

| by 0.25 units. Compute the change in speculative

demand for money that results from a 1% increase in

P.T.O.
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I relationships 3

. Assume that al re
f interest. (

the rat€ 0

(5)

Jinear)
o de e X WA T R FUE D W [S-Ly
e W AR W I W A R A IRGAT g IRomwy
@ (y=3000, r=4%) ¥ (y=3500, r=6%), X Wga
2, WEl y, r T FW IR AW N hl W B g8 figy
T @ fo v g gfe dwdlad q@ e A w005
TS A G Bl B R KA 1% ) Iy B aRomRasy
T AT AT K TR A O (T o B w dy
Haw )

Ram and Sita both consume in two periods. Ram earns
$100 in the first period and $100 in the second period.
Sita earns nothing in the first period and $210 in the
second period. Both of them can borrow or lend at
the interest rate r. The answer the following questions

and must include diagrams and equations.

(a) You observe both Ram and Sita consuming $100

in the first period and $100 in the second period.

What is the interest rate r?
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(b) Suppose the interest rate increases. What will
happen to Ram’s consumption in the first period?
Is Ram better off than before with the interest

rate rise?

(c) What will happen to Sita’s consumption in the first
period when the interest rate increases? Is Sita
better off than before with the interest rate

increase? (1+2+%2)

W AR G A ST & - el wiew § Swa o
¥ I UEeh smfr ¥ $100 3R @Y @y ¥ $100 A
31 fen TeR sy ¥ o N A R F R @
# $210 SR FARK Bl A I ¢ T W W IR F TR
g A JUR T WA T I A AN IR T e B
ey

(F) o @ & & W R G I usel sy ¥ $100
AR @ sm@fer F $100 1 I wRA ¥ WS R

= 87

P.T.O.
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() e TG o SIS R TG TR B TR S ¥

%mﬂhﬂﬁﬂﬁ?ﬂ?wwai@%%mm
J R 87

(1) wEel SEfer A G W ITHAT H R BT W oy
am%?wwaaﬁ%@mm%m
g7

Suppose that the firms’ markup over marginal costs is
5%, and the wage-setting equation is W = P (1 -u),

where u is the unemployment rate.

(1) What is the real wage determined by the price-

setting equation?
(i) What is the natural rate of unemployment?

(iif) Suppose that the markup of prices over marginal
costs increases to 10%. What happens to the
natural rate of unemployment? Explain the logic

behind your answer. (1+1+3)
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T AR fF QT A W OER AT 5% 8 3R
HoTgd - Frufor Tfeer W =P(1 —u), B, W8T u SRS &
7

(i) ¥ Fufor wieor aa FriRe afie woed @
27

(i) <SR A whE w T 27

| (iii) w1 AR for Sia ame W SR W AT 0%
"‘_ Th q¢ IR 81 IS S WHRiEw w4 B
27 I S B 9P B I F W 6w

6. Use the neoclassical model of investment to explain
the impact of each of the following on the rental cost

of capital and investment :

(a) Anti-inflationary monetary policy raises the real

interest rate.

(b) An earthquake destroys part of the capital
stock. (5)

B T.Q
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el alic P bl ST I TR Fferfers % Ay &
e ) @ aﬁefzh{%mﬁam%mw-ﬂu?ﬁsamm[
W

(m)ﬁwﬁ%ﬁﬁﬁﬁﬁmﬁ%mﬁzﬁmmm
2

(@) @ TE ®E & R @ e a2

Suppose that an explicitly temporary tax credit is

enacted. The tax credit is at the rate of 12% and

lasts only 1 year:

() Differentiate between the effects of this measure

on investment in the current year, following year

and in the long run,

(i) How would your answers in part (i) differ if the

tax credit were permanent? (3+2)

mﬁﬁq%www%mﬁﬁw%@zmﬁnﬁa

ﬁww%@w%&uz%ﬁaﬁ%aﬂtﬁamaﬁw
'{S‘cn%:
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o= B’

8. “The conduct of monetary policy cannot affect the
total number of point-years of excess unemployment”.
Discuss this statement. Explain how Fischer used the
notion of credibility of monetary policy to refute this

claim? (5)
‘g Y F O dAT Rowd @ fHg-aw w
FHA AT H FHIET AE EW G| gE HAT h
=i FIRT 3T TE T @eT e & fow iR & wifgw
My & rgagar & gRom @ ITERT Sl fRar W
27

P.T.O.
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SECTION B

Attempt any 3 questions. (15 marks each.)

#F 3§37 5T HRI (7AF B [v 15 5E)

1. (a) Suppose the Phillips curve is given by
H[=H: + 0.2-5u, where H: = BHH

(1) What is the natural rate of unemployment

in this economy?

(11) For now, assume that 6=0. What are its
implications? Suppose that the government
decides to lower unemployment to 3% and
keep it there forever. What is the rate of
inflation for t=1007 Is this realistic? 1f so,

why?

(iii) Assume that only for the first three periods
(t=1, t=2, and t=3) people form their
expectations using 0=0. After the third

period (i.e. from t=4 onwards), people
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11

. or (heir
change the way thoy Form

expectations and 0 takes (l
stays there forever. Also, the gnvcrnmcnl
3%.

e value | and

still wants to keep uncmployment al
What is the rate of inflation for t=4, 5,
and 62 What is the expected rate of
inflation for t=4, 5, and 6? Is this sctup

more realistic? 1f so, why? (1-+2.5+4)

(b) Under the rational expectations approach of

forming expectations, discuss in the short and long
run, how an anticipated monetary policy expansion
works as compared to an unanticipated monctary
expansion. Show both mathematically and

diagrammatically. (7.5)

(@) = @R et aw [ [ =[], + 0.2-5u, R

T R Wl Hf = GHH

(i) =& srfomaear ¥ SASENA T Wil R T

87

P.T.O.
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(ii)

(iii)

12

0 & forg, A AR fF 0=0. T Aifvqys
T ¥7 AT W OWER R
3% T T w AR T T D T I vy
& BEd W B =100 & o TERdy
W T 7 T g gAdant 27 AR w, @
i ?

A o T dae Teel O EftEl (=1, t=2, 3K
t=3) & T @ 0=0 = I T& I
YT T B A IE & W (I =4
A AR, AT FEN I R T D qAD
W FEAd B IR O=1 T AT oAl ¥ IR W
& fov @8 wa 2 WY R, wER Ind %
SIS &l 3% W W& I8l Bl t=4, 5, 3R
6 & fog Eemifa At WA 2?7 t=4, 5, 3k
6 & fov wedif & st w® w27
T I8 WAy A audardt 27 AR w, @
w7



¥ ﬂ_
)=

4493 13
(=) m%ﬁ%%aﬁ?ﬁmﬁ?ﬁmfﬁaﬁ,

S 3k TR srafEr ¥ v smenfia wifEer faer @il
gl | TR et wfgen i fasr d R Sl
2 faa==n Hiser g 3k 3mxda e O o

e
2. (a) Explain using an appropriate model why
transactions demand for money increases with the

square root of income and decrease with the square
root of interest rate. (7.5)

(b) Determine the equilibrium portfolio choice of a

<diversifier’ in the portfolio balance approach.
Explain with the help of a diagram why the demand
for money must decrease progressively by smaller

amounts as the interest rate increases by constant
(3.5+4)

increments.

(Eﬁ-) T 399 A u”?fl <l 39 ”] EH{EE; aE"Q-% STF!IT%Erﬁ
& @y {ET @ AT FE FEd & AR =S X S

& gry "wedr Bl
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) AR T e A T W R e
SRR R @ FuRa w0 tF B R g
= ¥ He Wity Fifh = W A FRR afy o
2

W

(a) Using the consumption function U(C) = In C, derive
and show how an individual’s intertemporal
consumption choices depend on the market rate
of return and the individual’s discount rate in more

than two time periods framework. (7.5)

(b) “In the cross-sectional budget studies, we expect
to see MPC < APC.” Prove this statement using
Friedman’s permanent income hypothesis.

(7.5)

(%) ITRT ®er U(C) = In C, T IWAN A §Y T
Frk RaN fr 37 TE =k & gedHERa TN
fymeq, 19 @ SOIR & AR A ¥ ARE T e
& o ¥ o @ 8 ® | Rk & R
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4.

15

(@) “HE-FE AAE FATA K, B MPC < APC Ty
aﬁ:ﬁﬁﬁ:aﬂ%”%v’u%ﬁ%raﬁ‘@nﬁ'anrwﬁmaﬁnfm
ST T T R D R el

(a) Briefly explain the neoclassical theory of
investment. What is the relationship between the
neoclassical theory of investment and the way

firms make their investment decisions in practice?

(4+3.5)

(b) Consider two alternative expansionary economic
policies. One is the introduction of an investment
subsidy; the other is a decline in the rate of income
tax. Explain with the help of IS-LM schedules,
the impact of these alternative policies on interest

rate, consumption, investment and GDP.

(7<8)

(w) Few & FameT el = 989 N aren =¥ S
& AaIrEd e ok =wEr X e ¥ w9 sy
fon & daa = ?, & 99w G5y 27

P
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(c) A Aenfeuen Freaendt anfie AT WK B v
Py aRa® o TEITE © ; G SR A /A firmge
1 1S-LM gl ol Wewen ¥ ¥ denfeash vy
&1 AT X, IR, TR 3R GDP W 98 @t e

Eaflic:ice (e A v o

(4000)
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as A 3 A A T R |

aaft T 3R @ 8, TAE D 15 A T |

= - O T IR St 2 fEd fonel waR s # fore, wifeher
g IR} I AL T B BT A |

What are the basic indicators of development?
Elaborate on the characteristics of a Developing

World. (Todaro & Smith)

RrefTd & SRS Heheich o1 37 foremmadier fame =t fargorenati
I R ¥ w01 (SRR SRk fw)

The Covid-19 pandemic is an unprecedent shock to
the Indian Economy. Give a detail account of the
impact of the shock on the various segments of the
economy and the policies announced by central
government and the RBI so far.

FAFE-19 MEFMY WRAT Jrderaea & forg var Sqmyd e
2| sfaaen & R 89 | T & YNE IR B WER
IR IR B/ 3 T AT Afd @ fFwR ¥ Iea

HT|
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‘Seventy years on from Independence India’

. ) a’s
education and health care indicators remain g,rosslq
unsatisfactory’. (Vijay Joshi). Discuss.’ ’

3.

fm%wwm,mzﬁﬁwﬁ?WWh
FRdd 90 WE A AR B (From ) == Biferen

4. Despite doing better in terms of the growth of per
capita income, India is falling behind many countries
in terms of many social indicators. Discus and compare
India’s position in South Asia and the key lessons

learnt.

e =fed 3T gfg & A F A5 Wou oy & A
HRA Y AT qhdehl B ARG § wE 9 ¥ o @
21 Tfer ot # wRa A Rafy sk siivla weeget s
& gor 3R fFEE &

The labour market India has undergone significant
changes with a sharp increase in young unemployment.
Do you agree or disagree. Discus in context of
changes in the labor market during the period 2005-

2018.

Wl s SR, A1 Rewd ¥ 09 Ife B qo T
TR ¥ O 21 ST EAE T A FEA ! 2005 - 2018 FH
Faftr & IR H WOR ¥ IRaed @ et A e

P.T.0.



3673 4

6. Critically analyze the Nehru-Mahalanobis Strategy
elucidating the achievements, shortcomings and

misperceptions.

Jucifdl, fal 3R el URUISN ol T FRd g A5e
HETHIEE WA & eI f[agauer s

7. “The reforms of 1991 have played an important role
in accelerating the growth and performance of the

Indian economy’. Comment.

1991,%§mﬁ%ﬂﬂﬁuaﬁaaw%ﬁamaﬂtmﬁ
Jraar o ¥ HEaqul i g 2 oot wife

8. Briefly explain the impact of demographic changes on
a countries growth performance. What are the key

trends in India’s demographic transition?

G 3w & Ao eI | SFERasd IRanAl & wHe
=1 GAT X gU Y R D SHAIRAEE YA A WG

=T 87

(2000)



[ This question paper contains 8 printod pages.)

Your Roll Novaean,,,

Sr. No. of Question Paper 3941
29 4 '|‘(}l4

Unique Paper Code 6227 1301-5¢
Principles of Macroeconomics—

1

Name of the Paper

Name of the Course BA (l’l'()l-’.-) DSC

Semester I11

Duration : 3 Hours Maximum Marks 73

Instructions for Candidates

1.  Write your Roll No. on the top immediately o1 receipt

of this question paper.

Answer any five questions. All questions'are divided
into sections, A and B. Attempt any five questions
out of 7 questions from each of the sections.

Section A has short answer questions and each
5 marks whereas Section B contains long

ons and each carries 10 marks.

g%

carries
answer questi

Answers may be written either in English or Hindi;
but the same medium should be used throughout the

paper.

p.X.O.




3941 2

B & forw Ade

= TE-TT B PR & W Ry Y FERd ¥ 9 s
SR forfag |

% gy Y e = X i e T 21 WA WS A A-

2.
qoT e — 7 W A A T 5 WEAl @ IR S| WE A A Y
S0 WI & U WS 5 3 ol 8 oidich WS & A A 41 3y
75T 2 3R yAF 10 Ik H B

3. 29 9IT- 9T T IR/ JAden a1 BE fFE v wwr F Aiforg, AfeT

TN ITA T ATEAH UF B BT A8 |

SECTION-A (WS 1)

1. Define macroeconomics. Explain the evolution of

Classical-Keynesian debate.

fte I S gt AR vRiksa - $RkaT 989 @
farm Yt = w1}

2. Prove that :(— Spvt + Sgovt — CA =1

(Where; Spvt, Sgovt, CA, and I are Private saving,

Government saving, Current account and investment

respectively)
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Explain the economic interpretation of this identity.
frg SR fr- Spvt + Sgovt — CA =1
(. Spwt, Sgovt, CA, I Frat: Feht srere el et 1]
70 qdafE o e e @ |

3.  What is the budget surplus? Explain (Diagram is

required)

99 JfRE =1 27 =Rer ol (aﬂﬁ'aﬁm‘a)

4. Explain the income determination when government is

included.

W R & gl T s 2 @ s i 9 e
&

5. What are the functions of money?

W@ D A R 87

6. Use a diagram to show how goods market equilibrium

is attained.

P.T.O.
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a@mwﬁw
aﬂﬁﬁ%ﬂaﬁﬁﬂmﬁl

7. Explain the concept of balance budget multiplier.

SECTION-B (&% &)

1. Define macroeconomics. Explain the major

macroeconomic issues.

Fafer srfae T AR Tl srfarR % W TR
T FU SR

9. List the four components of total spending. Why are

imports subtracted when GDP is calculated in the

expenditure approach?

Icgc'i @d B IR UeH H qAETE P TG Ghel IS I
& A T GRERIT | FH AR 2 A A B R TR

AT 27?
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3. Given the following data for a hypothetical economy:—
C=580+08Y;
[ = %70 Crores

G = %200 Crores.

TR = %100 Crores
t =20.2

(1) Calculate the equilibrium level of income and

multiplier in this model.

(1) Calculate also the budget surplus.

(iii) Suppose that t increases to 0.25. What is the

new equilibrium income? The new multiplier.
T S & R ¥ P g @ g 2

C=50+038Y,

[ =370 =

G = 3200 e
TR = %100 &2
t = 0.2

P.T.0O;
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(i) v wRew ¥ ora @ e W A TID R g

Al
(i) wwe sfRe @ IUET AT

e Wﬁ;tamo.zsﬁméﬁrqﬁ?ﬁﬁﬂ?m
T ® AY O @ W T0ET Hiw)

Suppose that government decides to reduce transfer
payments but to increase government purchases of

goods and services by an equal amount '(i.e. AG =

—~ATR).

(a) Would you expect any change in the equilibrium
income to rise or fall as a result of this change?
If so, why? Check your answer with the following

numerical example; suppose that, initially, C = 0.8,
t=0.25 and Y;,=600. Now let us assume that

AG =10 and ATR =-10.

(b) Find the change in equilibrium income, A Y,.

w%mmﬁmwﬁmaﬂ%wﬁﬁa%ﬁ
2 oifth aegsll vd JaeN il WEHD @lde B wHT A Y
s 1 S Fvig okt 2 (sefE AG =-ATR)
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Explain the money market equilibrium. Show the effect

of an increase in nominal money supply on the interest

rate. (Diagram is required)

P.T.O,
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(37) “wfE SR T B W Ase Hfge S W
IRe Rw @ aREd FE W@ 2, wEih FAHEN
SRR AT SURSS ) afad 3 & o
fww B 217 "

(@) Tewwr 2 fr Y @ Fia Ruf, e fadt @
e e D Raenw A T Y w8, e
v Ffgw qees R safea wafr @t @ A
firrae 3 21

4. (a) Explain how the Preferred -Habitat Hypothesis is °
a combination of the rationale for the expectations

and segmented market hypotheses. (9)

(b) The interest rates on one-year, two-year and three-
year government bonds are 4, 7 and 9 per cent

respectively.

(1) Describe the shape of the yield curve.
| 2)

(ii) Use the expectations hypothesis to
determine the market’s forecasts of the
one-year rate next year and after two -

years. | (4)
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o D e e i
a
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(3r) = W DA wESer- A gReed S
AR @R AR IRebeA & T w1 v G
7l

(@) vw o@, @ O IR G G D WEY qE W A
R FwAW 4, 7 IR 9 whEE B

(i) 91 9 & AR @ ol &

(i) s o 3k 3 a9 @ W@ vE AW @ R D
TR & wEgE A FuiRa s @ forg
aﬁma?fa%'wﬁamm-msmaﬁn

5. Trace out the majof differences in the degree and
nature of NPA crisis in Indian banking system during
1997-2002 and after 2008 global financial crisis. What

‘have been the policy responses to this crisis in two

different time periods? X ' | (15)
1997-2002 F R 3R 2008 F AT fka T D ww@
meﬂuﬁﬁfnwnﬁﬁ@ﬁ?ﬁwﬁﬁﬁaﬂ{ﬁﬁﬁm
R T T TG A ST - e W ey A 56 Hehe
) wRfa w AR @ 27

P.T.O.



3674 | 4
(3) “TafE TR e B W Ae ASC T
e AR I whad T@ @ P, TG FAER
SJUREE AT JuREi @ aRed 3 8 T WA

e B 21”7 ww=Em

(7) Sewwr ¥ fr O ot wiw R, afied TRarT @
T B D Roew T @ FE F 8, Wit
vw fftad qeam R ariRd gufe @l e #
firre st 21

4. (a) Explain how the Preferred -Habitat Hypothesis is
a combination of the rationale for the expectations |

and segmented market hypotheses. 9)

(b) The interest rates on one-year, two-year and three-

year government bonds are 4, 7 and 9 per cent

respectively.

(-i)' Describe the shape of the yield curve.

2)

(if) Use the expectations hypothesis to
determine the market’s forecasts of the

one-year rate next year and after two -

years. | | | (4)
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(3r) = W & P wler- wEw TREeT IREna
aﬂiﬁﬁamqﬁammaﬁ-%aﬂﬁmmww
2l

(%) Th W, o A R W e B W qE W TS
R EAE 4, 7 3R 9 whmg D

(i) ST o & R @ Ao W

(ii') T T 3R A I B qE vH q§ D | D
NN & gEge @ feiRe wer @ e
AN & IRFT w1 I R

5. Trace out the majdr differences in the degree and
nature of NPA crisis in Indian banking system during
1997-2002 and after 2008 global financial crisis. What
have been the policy responses to this crisis in two

different time periods? | (15)
1997 -2002 % ¥RH 3R 2008 F A o G @ T
TR AT TR ¥ T e &l B SR wely ¥ W
aﬁwwmté’rm—mw E | 3 Gehe
R wRfE @@ AR @ 27

P.T.O.
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6. (a) How have the capital adequacy norms changed in
recent years? How is Basel 3 an improvement

over Basel 2 norms? (8)

(b) Several variables can be placed in one or more of
the following categories: policy instruments,
operating targets, intermediate targets, or final
targets. Which of the following variables can be
placed in which of these categories and why?

(i) Non borrowed reserves
(i1) The interest rate

(iii) The money stock (7)

(1) o =l ¥ el s A T ¥7 B
g 3, qGd 2 AAES A UL RY? '
(@) W v A e PR AR @ o
8 A Iuehor, IREeF e, WerEdl wed, A1 Siew
we| el § A e o T ¥ R S ¥
@ WA 8 3w
(i) R SuUR M

(i) =™ ®/

(i) o1 ®®
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7. (a) What do you understand by the Unconventional
monetary policy measures? Under what
circ’umstan_ces are these used? Outline the
categories in which these unconditional measures

‘can be classified explaining any two of them.

(8)

(b) Explain the process to make the money multiplier
- Invariant to changes in statutory cash reserve

requirement? (7)

(37) IRErE Afew AR S ¥ 0 T R 37 FHA
SvA frer oRRafl ¥ Rear e 3% 9 ¥ Rl
A N T B g, IT A A TR I R
e A B T SUA @ aifigE R o A 2

'("q') e RS IRfeE JmaTEEdT § uRadT & e om
AUH H FARGAAE T Ak R W

8. Write short note on any two of the following :

(i) Movement from base rate lending system to
MCLR system

(il) Open Market Operation

. (iii) Liquidity Adjustment Facility

P.T.O.
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